Total No. of Printed Pages—6
3 SEM TDC STS G1

2021
( Held in January/February, 2022 )
STATISTICS
( General )
Course : 301
( Estimation and Testing )

Full Marks : 48
Pass Marks: 14

Time : 2 hours

The figures in the margin indicate full marks
for the questions

1. o R R W Teacl A Bed ¢ 1x5=5
Select the correct answer from the following
alternatives :

@ TF o151 0 3 BT SRS WP 1 (PRI 7R,
M @
T is called an unbiased estimator of
parameter 6, if
() EM=0
(i) E(M=0
(iij) E(M=0
(iv) ©°RT GOI8 7=
None of the above
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(b)

c)
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(2)

81 2PTRTR AIXFR OIRe =3 FRIA I T
=

Test of significance for the difference
between two variances can be tested by

(i) x2- <=
x2-test
(i) R
t-test
(iii) F-*=[rs
F-test
(iv) ©IR] GBIS T/
None of the above
RIS o FRfOTS Fefy 31 ey Sy gt
AT AT PG
Generally the estimators obtained by the

method of moments g5 compared to
maximum likelihood estimators are

) ¥uww
less efficient
(i) QR v
more efficient
(iii) WS %
equally efficient
(iv) S°%q ghre =
None of the above
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(3)

(d) <51 R 3 e @ fB-onfire ] $s 31
Whether a test is one-sided or two-sided
depends on

() e oo
null hypothesis

(i) s aF%
alternative hypothesis

(i) () S (i) TABR
Both (i) and (ii)

(iv) €T 18 T/
None of the above

(e) TR Bz iz W@ Rv I3
Ordinary sign test considers only
() =
sign
(i) . =M
maghnitude
(i) (i) ¥ (i) LEIOEY
Both (i) and (i)
(iv) R Jore T
None of the above
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(4)

4=8
2. wos fia e e faal 2x
Answer the following questions :

(a)

(b)

(c)

(d)

3. (o)

(b)
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1 o SRR (ARETE R [0 oyt 3¢
340 |

What are the charactéristics of a good
estimator? Describe them briefly.

2AT5e] SRS 91 5IN *IF0] A SCH! AT 41 |

Explain the method of maximum
likelihood for estimating parameter.

[T /90 :
Explain :
(i) e o=
Null hypothesis
(ii) Lo WY
Level of significance
DA AF SR “Tfoq Nz foran 1

Write the differences between parametric
and non-parametric methods.

ST SRR e oy | 2
Define unbiased estimator,

TS TS WF W S el e e 2 B
SRR T A Befy oo 3+4=T7

What do you mean by consistent
estimator and efficient estimator? How do
you find the efficiency of an estimator?
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5 4. (a)
(b)

(c)

5. (a)

(b)

1 6. (a)

; 22P/486

(5)

(4)]

TS ARSI A6 HFTH PG I T
Describe the method of moment for
estimation of parameters.

el SieaE I [ 3| ? 2
What do you understand by confidence
interval?

GBI 3% N@c”?) A 6 T

100(1-a)%ﬁmmwﬁcﬁwn 2
Obtain 100(1 )% confidence interval for
the parameter © of the. normal

distribution N@,c 2.

e ot Fee B 32
What is non-parametric method?
2ot 741 (R e @ibt) '
Describe (any one) :
(i) g R
Median test
(ii) < oA

Run test

7z oforf w1 e
ol qef ¥
t of significance of

Describe the tes
proportions of two

difference between
populations for large samples.
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(6)

S3<T / Or

() x*-3 aferfer e foy | x 2 -ofomfer w1
mmﬁwm@, A Fq1 245=7
Define y2 statistic. Describe how you

would make the goodness of fit test by the
x2 -Statistic.

* e %
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